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Introduction

Theorem (Lagrange). For any integer n € N, there are (a,b,c,d) € N*, such
that:
n=a’>+b*+c*+d%.

It has been conjectured by Waring that for any power k, there exists an
integer (denote g(k) is minimal one), such that all integers can be written as a
sum of g(k) k-th powers. This has been proved by Hilbert. Lagrange theorem
asserts that g(2) = 4, few values are known.

Conjecture (Goldbach). For any even integer greater or equal to 4, n € 2.(N'\
{0,1}, there are two prime numbers (p,q) € P?, such that:

n=p-+gq.

These two problems deal with sums whose terms are multiplicatively de-
fined. Additive number theory would consider any set of terms (forget about
the multiplicative definition of these particular problems) and try to prove that
if the set is large enough, then so will be the sets of sums, up to a point where it
can cover all the integers. Additive combinatorics would consider similar ques-
tions and developments on the integers, residues modulo a prime or any abelian

group.

The interested reader may appreciate the following references and the refer-
ences therein:

e “Additive Number Theory, Inverse problems and the Geometry of Sum-
sets”, M.B. Nathanson, GTM 165, Springer-Verlag (1996).

e “Additive Combinatorics”, T. Tao and V.H. Vu, Cambridge Studies in
advanced mathematics 105, Cambridge University Press.



First Session

Let A and B be two non-empty finite subsets of Z, Z/pZ or any abelian group,
we define their sumset:

A+B={a+blac A, be B}.

Tts cardinality is invariant by translation, indeed |t + X| = | X| whatever is
the set X, so that
|t+A)+ (s+B)|=|A+ B|.

Theorem 1. Let A and B be two non-empty subsets of Z, then:
|A+ B| > |A| +|B| - 1.
One has equality if and only if
e either min{|A|,|B|} =1,

e or A and B are arithmetical progressions with same difference.

Proof. Denote A = {a; < as < -+ <agq}and B ={b; <by <--- < b} then in
the table:

’al—i—bl as + by ...“ad+b1 H
ar+by as+by ... || ag+b
air+by as+by ... aqg + by

One has a increasing sequence of length d + ¢ — 1 (d + ¢ — 2 strict inequalities):
a1+ <as+b <---<ag+b<ag+by<---<ag+by.

So A+ B has cardinality at least |A| + |B| — 1.

In the case of equality, it suffices to consider the second line and one before
last column of this table to have another increasing sequence of length d+/¢ — 1:

art+bh < aat+bh < - < ag+b1 < ag+ba< - < ag+tbi_1 < aqg+by
ap+bi < ar+ba< < ag1+ba< ag1+bs< o< ago1+be< ag+by



a < az < - < QQd-1 < a4
—
b1 (&) (&) D EB\
A 2 2)
bo D D EB\ (&)
A v
A v
by &3} @
A \7
be \@ @ )

So these sequences are termwise equal. The second to d-th equalities are:
a; — Q;—1 = b2 — bl, xS [Q,d]

This proves that A is an arithmetical progressions with difference by — b;. And
the d-th to the one before the last equalities are:

aqg — Ag—1 = bj — bjfl, Jj € [2,6].

This proves that B is an arithmetical progression with difference ay —ag_1. So,
A and B are arithmetical progressions with same difference. O



Another topic of interest in additive combinatorics is the restricted sumset
defined by:
A+B={a+blac A be B, a#b}.

This can be generalized for sums of more than two terms in the following way:
For a given set A C Z, and h € N, one consider the h-fold restricted sumset:

hAA:{a1+"'+ah‘ai€A7 ai?’éaj}'

Its cardinality is also invariant by translation, indeed h"(t+ A) = h.t +h" A,
so that
|W(t+ A)| = | Al
The sets h A and (| A|—h)" A are symmetric, indeed (|A|—h)"A = (Y 4 a)—
hA, so
(1Al = R)" A = |n" A

Theorem 2. Let A be a non-empty subsets of Z, and h € [0, |A|], then:
|[h"A| > 1+ h(|A] — h).
One has equality if and only if
e cither h € {0,1,|A — 1|, |A|},

e orh=2, A={a1 <as <az<ayg} and its 4 elements satisfy a1 + aq =
az + as,

e orhe€l2,|A] —2], |A| > 5 and A is an arithmetical progression.

Proof. Denote A ={a1 < as < -+ < aq}.

Whenever h € {0,1,|A4] — 1, |Al}, the inequality, and the equality is clear.
Notice that h"A = (3 ,c 4 a) — (JA| — h)"A.

Consider for a couple (4,7) € ([1,d — h] x [0, h]) the sum:

h
Sij = E it k-

k=0
k#h—j

One has

Sij+1 = Siyj = Qith—j — Qiyh—(j4+1) > 0, j € [0,h —1],



and
Si,h = Si+1,0-

To summarize:
S50 <851 <82 <o < Sip = Si+1,0-

Therefore, one has at least (h+1)+h(d—h —1) =1+ h(d — h) elements
—— |
i=1 i€[2,d—h]
in KA.

From now on, we consider that the inequality is an equality, so h"* A is exactly
the set of the sums s; ;.

Whenever h € {0,1,]|4] — 1,]A4]|}, the equality is clear.

Suppose that |A| = 4 and h = 2, denote A = {a1, as,as,a4}, with a1 < as <
a3 < ag, one has

as +a
a1+ a2 <ap+asz < 2 3 < ag+ayg < as+ ay,
a1 + aq

and 1+ 2(4 — 2) =5, so necessarily one has to have as + az = a1 + a4 and this
condition is also sufficient.

Otherwise |A| > 5 and h € [2,|A| — 2]. Consider the new sums defined for a
couple (7,7) € ([1,d —h — 1] x [2, h]) the sum:

h—1
Ui j = Z Qitk | T Qitht1
k=0
kh+1—j

=84,j—1 + Qith+1 — Qjth-

T |
(AP YR R YOUY S |

One has:
i1 < Uiz <Ujz < < Upp < Si41,1-

Since h"A is composed by only the sums s; ; previously defined, one has
8i,; = U, Or equivalently:

Qjt+h—j+1 — Qit+h—j = Ai+h+1 — Aith-
Or considering that j € [2, A]:

Ait1 — Qi = Q42 — Qi1 = = = Gt h—1 — Qit+h—2 = Qith+1 — Qith-
(+2 1)



The remaining case ;45 —a;+r—1 = G;+1—a; is an overlaping of the previous
ones, whenever h € [3,k — 3]

i€[2,d—h—1], aith— Gith-1 i=1, aitn—an
= Q(;—1)+(h+1) — A>i—1)+h = 024 (h—1) — A24(h—2)
= Q(i—1)+(h—1) — Q>i—1)+(h—2) = Q24 (h—1) — A24(h-2)
= Qi+h—-2 — Aj+h-3 = A14(h—1) = O14(h—-2)
= Qit1 — G- =as — aj.

This proves that A is an arithmetical progression.

Whenever h = 2 (the case h = d — 2 is symmetric), these equalities do not
overlap, one only have a;11 — a; = a;13 — a;4+1-

Since |A| > 5, the six smallest elements are given by:

az +asz <az+aq <as—+ayg
a; +agz < ai+az < < as+ as
1 2 ! 3 a;+ag <ap+as <ag+as 3 27

therefore a; + a5 = as + a4, or a5 — ay = ax — a; and A is also an arithmetical
progression.

O



For a given set A C Z, one defines the set of subsums:

4]
(A) = { Y alAc A} =Y {0.a} = (" 4).

acA’ acA h=0

Its cardinality is not invariant under translation, but it has a symmetry
property that allows to exchange a element by its opposite. If ¢ € A and
—a ¢ A, consider A = A\ {a} U {—a}, since {0,—a} = —a + {0,a} one has
Y(A") = —a+ 3(A) and so:

Theorem 3. Let A be a non-empty subsets of Z, such that AN(—A) =0, then:

Al(JA] +1
X(A) > 1+ W%
One has equality, if and only if
e cither |A| < 2,
e or|A| = 3 and its 3 elements satisfy a relation of the type +a;+astasz =0,

e or|A| > 4 and the absolute values of the elements of A form an arithmeti-
cal progression.

Proof. The property AN(—A) = () allows us to consider that A has only distinct

positive elements. Hence A = {aq,...,aq}, with 0 < a1 < ag < -+ < aq.
If |[A] = 1, the result is obvious. We will state the result by induction.
Consider that |X(ay,...,a4-1)| > 1+@ and denote m = max(X(a,...,aq-1) =

ay + -+ aq—1. One has d new elements greater than m in X(A):
m<m+tag—ag—1 <m+tag—aqg—2 < --<m+tag—azx <m+taqg—ar < m+aq.

Therefore |X(A)| > (1 + @) +d=1+ @. This concludes the proof of

the inequality.

From now on, we consider that the inequality is an equality.

Whenever d < 2, the inequality is always an equality, because 0, a1, az, a1+as
are pairwise distinct.

Whenever d = 3, the equality is ‘Z?Zl{(),ai}
the two sequences of inequalities:

= 7. In particular, one has

O<ar <as < ai—+as
< as <ai;+a3z <ag+az <a;+az+as.

Since as < agz, the only necessary and sufficient equality is ag = a1 + as.
Whenever d = 4, the equality is ‘2?21{07 a;}

the four sequences of inequalities:

= 11. In particular, one has




0<a; <as <ai+as
<az<a;+taz<azx+az<a;+as+as
<ag<artag<az+ayg <ayp+az+ay
< asztayg < artaztay < astasztag < ayrtastasztaq

One needs the equalities:

a1+a2 = as

artas = a4

ax+as = ai+ay.

They can be rewritten as
1 1 -1 0 Zl 0
1 0 1 -1 2 l=1o0
11 1 -1 3 0
ay4

This linear system (of rank 3) can be solved as:

as = 2a1
as = 3&1
as = 40,1.

Finally whenever d > 4, if we suppose that ‘Zle{o, a;}
-+-41). The inequality ’2?21{0, a;}| > ’Zf;f{o, a;}

and necessarily ‘Zg:_ll{(),ai} =14 ((d—-1)+---+1). From the induction
hypothesis, one has a; = i.aq, and:

S0 = [p25]

=1+ (d+(d—1)+

+d has to be an equality

Therefore,

i{o,ai} - [[0, ‘i(d;l)ﬂ a |[“d L d(dQ_l)ﬂ ar.

al’al

If 24 is not an integer or 24
al ai

‘ijl{o,ai} =d(d—1)+2. So 1+ @ = d(d—1)+2 what impliesd =1 or
d = 2, contradiction. Otherwise Z—f is an integer strictly greater than d — 1 and
2d < @. But then, one has ‘Z?Zl{(),ai} = @ + 44 + 1. This yields

ay —
the equality: 1+ @ = @ + o

> @, these two sets are disjoint, one get

+ 1 what naturally implies Z—f =d.
O

Suppose that the hypothesis A U (—A) = 0 is not satisfied, consider the

example A = [—a,a], so |A| = 2a + 1. One has X(A) = {_a(a;l),@} and

IS(A)| = a(a + 1) +1 = AL g JAP=1 4 gy JAIGAED 4 the
conclusion of the theorem does not hold.




Second Session

As a sumset can be defined on any group, one can consider the same problems
in a larger group.

To work on a finite group, naturally the size of any sumset will be bounded
by the above by the size of the group, and no lower bound can exceed its
cardinality.

Lemma 1 (Prehistorical Lemma). Let (G,+) be a finite group (non necessarily
abelian), A and B be two non-empty subsets of G, if |A| + |B| > |G| then
A+B=G.

Proof. Let x € G, then the two sets © — B and A have, by the pigeonhole
principle, a common element. So there are a € A and b € B such that x —b = a,
which gives x = a + b € A+ B. Since this holds for any x € G, we have
G=A+B. O

In any group, another kind of structure, the finite subgroups, will enable
very small sumsets. Indeed:

Exercise 1. Let A be a non-empty finite subset of any group (G,+) (non nec-
essarily abelian), one has

|A+ Al = [A]
if and only if A is a coset of a finite subgroup of G.

In the groups Z/pZ, where p is a prime number, the additive results are very
similar, even if the group is finite. These groups share with Z? the property to
have no proper non-trivial finite subgroups.

Since there is no order relation compatible with the addition, one needs new
tools to produce addition results.

Definition of the Dyson e-transform: Consider two sets A and B of an abelian
group G, and e € G, one considers:

A(e) =AU (B +e)
B(e) =BnN(A—e).
One has A(e) + B(e) C A+ B and |A(e)| + |B(e)| = |A| + | B]. Indeed:
[ Al +[B| =|A| + |B + ¢
=[AU(B +e)|+[AN(B+e)
=[AU(B+e)|+|(A—e)NB|
=[A(e)| + [B(e)|-



Moreover, if e € A — B then B(e) # 0.

Theorem 4 (Cauchy-Davenport). Let p be a prime number, A and B be two
non-empty subsets of Z/pZ, then:

A+ B| > min{p, |4] + |B| - 1}.

Proof. If |A| + |B| > p, whatever x € Z/pZ, the two sets (z — A) and B have by
the pigeonhole principle a common element and so z € A+ B and A+ B = Z/pZ.

Otherwise |A| 4+ |B| — 1 < p, so min{p, |A| + |B| — 1} = |A| + |B| — 1. The
result is clear whenever min{|A|,|B|} = 1. Consider a counter-example case
(A, B), with min{|A|,|B|} > 2, and |B| minimal.

Consider by # by both in B and a € A such that a — by ¢ A —by. (by — bo
has order p.) Consider e = a — by, so by € B(e) and by ¢ B(e), otherwise there
would be a’ € A such that by = a’ — e what implies that a — b; = a’ — bs.

Since,

|A(e) + B(e)] < [A+ B < [A[ +[B| =1 = [A(e)| + |B(e)| — 1,

then (A(e), B(e)) is another counter-example with 0 < |B(e)| < |B| a contra-
diction.

Exercise 2. Prove the generalization, let i € [1,n], A; finite non-empty subset
of Z/pZ:

|A1_|_..._|_An|Zmin{p,Z(|Ai|—1)+1}'

=1

A direct application of Cauchy-Davenport theorem give a first property in
the flavour of Waring’s conjecture:

Exercise 3. Let p be a prime number, and k a divisor of p— 1, prove that any
x € Z/pZ is the sum of k k-th powers.

The proof of Cauchy-Davenport has been generalized to any cyclic groups
with an extra condition:

Theorem (Chowla). Let n € N\ {0,1}, A and B be two non-empty subsets of
Z/nZ, such that 0 € B and B\ {0} C (Z/nZ)" then:

|A + B| > min{n, |A| + |B| - 1}.

10



The critical case of Cauchy-Davenport theorem does, as in the integers,
contain the obvious examples where |A| = 1 or |B| = 1, but also the example,
where |[A+ B|=p—1, indeed: If A+ B =2Z/pZ\ {z}, then the set + — A and
B are disjoint, (it would contradict x ¢ A+ B), and |A|+ |B|=|A+ B|+ 1=
(p—1)+1 =p, so necessarily B = Z/pZ\ A. This holds whatever is the set A.

To establish the full caracterisation of the critical case, one needs the follow-
ing lemma on arithmetic progressions:

Lemma 2. Let p be a prime number, A and B be two subsets of Z/pZ such
that min{|A|,|B|,|Z/pZ ~ (A+ B)|} > 2, and

[A+ Bl =[A] +[B| -1,

if one of the sets A, B, or Z/pZ ~ (A + B) is an arithmetical progression then
the two others are also arithmetical progressions with the same difference.

Proof. Denote C = Z/pZ ~. (A + B), one has |C| = p — (JA| + |B| — 1) and
0¢ A+ B+ C. But Cauchy-Davenport Theorem implies that

|A+B+C| > |A+B|+|C|—-1 = (|A|+|B|-1)+(p— (JA|+|B|-1)) -1 =p—1.

So we have equality |A + B + C| = p — 1, and this implies that also |4 + C| =
|A|+|C| —1and |B+ C| = |B|+ |C| — 1. The three sets A, B and C play the
same role.

Hence consider that A is an arithmetical progressions with difference r, A =
{ag,ap+7,...,a0 + (a—1).r}.

If |[A] = 2, consider the minimal decomposition of B into arithmetical
progressions of difference r: B = |Ji_; B;, one has (B; = r) N B; = (), and
|B +{0,7r}| = |B| 4+ n. Since it has the cardinality of |A+ B| = |A|+|B|—1=
|B| + 1, then n = 1 and B is an arithmetical progression of difference r.

If there is no element b in B such that (b+ {r,...,(a — 1).r}) N B = () then
naturally

A+B=ap+ ({0,r,...,(a—1).r} + B) =Z/pZ.

Otherwise, there is such an element by € B, which we will call an end, and the
“final” element by +ag+ (a—1).r admits only one writing as a sum of an element
in A and a element in B. Indeed, if by + ag + (a — 1).r = b + ag + i.r, then
b =bg+ (a — 1 —14).r, what can be possible only if i = a — 1 because by is an
end, and so b’ = b.

Removing the last element of A: Denoting A’ = A\ {ao + (a — 1).r}, one
has |A’| = |A| — 1 and

|A'|+|B|—1<|A'+B|<|A+B|-1=|A|+|B|-2=|A"|+|B| - 1.

In particular, |A’ + B| = |A’| + |B| — 1 and by induction, B is an arithmetical
progression of difference 7. O

Theorem 5 (Vosper). Let p be a prime number, A and B be two subsets of
Z./pZ such that min{|A|, |B|,|Z/pZ ~ (A+ B)|} > 2, if

|A+B| = |A| +[B| -1,

then A and B are arithmetical progressions with same difference.

11



Proof. If one of these sets has cardinality 2, the result is easy. We will then
consider that min{|A|, |B|,|Z/pZ ~ (A+ B)|} > 2.

From the previous lemma, it suffices to prove that Z/pZ ~ (A + B) is an
arithmetical progression. We will prove that a proper e-transform can be done
to (A, B), so that the complementary of A+ B remains unchanged and the sets
B(e) satisty 2 < |B(e)| < |B|.

If we consider a e-transform of a critical pair (A, B), one has:

Al + Bl =1 =[A(e)| + |B(e)| =1 < [A(e) + B(e)| < |[A+ B| = [A[ +[B| - 1,

therefore all these inequalities are equalities. In particular A+ B = A(e)+ B(e).
Let by € B, define X = {e € A — by | B(e) # B}, therefore by € B(e) and
B(e) is not empty whenever e € X, (and |B(e)| < |B|).
Suppose that e € (A —by) \ X =Y, therefore B(e) = B and so B C A — ¢,
ore+ B C A, then Y + B C A, and by Cauchy-Davenport:

|A] > |Y + B|
> |Y|+|B| -1
=|A] - |X|+|B| -1

SO
1X|>|B|-1>2

Now let us prove that for some e € A — by, one has |B(e)| > 2. Suppose the
opposite: for all e € A — by, B(e) = BN (A —e) = {bo}, therefore (X + (B\
{bo}))NA=0,s0 (X + (B\{bo})) C (A+ B)\ A, and by Cauchy-Davenport,
one has:

[X|+[B| =2 = |X[+(IB[-1) =1 < |X +(B\{bo})| < |[A+ B| - [A] = |B[ - 1,

what gives a contradiction to | X| > 2.

After several applications of e-transforms, one would reach a situation where
|B|=2and |[A+B| = |A|+|B|-1<p—1,s0 A+ B = A+ B is an arithmetical
progression, and so are A and B by the previous lemma.

O

An interesting application of these two theorems is the following;:
Proving that, whenever k | p — 1 and k # %, the set of k-th powers is not
an arithmetic progression, Then its consecutive sumsets have to be even greater

than what Cauchy-Davenport asserts. So one can prove the following:
Theorem (Chowla-Mann-Straus). Let p be a prime number, if k < %, then
every element of Z/pZ can be written as a sum of (%W k-th powers.
An application of this last theorem is:

Exercise 4. Let n be an odd integer, consider for some ¢ € N*, the sets of
sequences (ai1,...,a;) € (Z/nZ)*. Prove that for any of these seqences, any
x € Z/nZ admits a writing of the type:

r==+a; tas---*tay,

if and only if £ > n — 1.

12



Third Session

Today, we will consider a larger context, we will consider sumsets in any abelian
group. And we will use this larger scope to prove a deeper structural result on
the integers.

The eventual presence of finite subgroups have to be taken into account, we
will need the following notion:

For a given set X C G, one defines its period:

HX)={9€G|g+ X=X},

it is a simple exercise to show that, H(X) is a subgroup of G (finite if X is
finite).
Lemma 3. Let C = C1U---UC), be an union of n non empty sets of an abelian

group G, then:

min
ic{1,..

)

n}{\Cz'\ + [H(Cy[} < [Cl+ [H(O)].
Proof. We prove this lemma by induction on n. Whenever n > 3, the induction
step is obvious:
~min_ {|Ci] + [H(Cy)[}
i€{l,...,n}
=min{_ min_ {IC|+ [H(COI}. |Cul + [H(C,)}

Smin{ H<nU Ci>|a|cn|+|H(Cn)|}

n—1

U Ci| +

=1
<|Cl+ [H(C)].

It remains to prove the lemma for n = 2. If one of these sets is C' itself, the
claim is obvious, otherwise one can consider that the sets C7 and Cy are proper
subsets of C. Denote H; the period of C;, for ¢ € {1,2}, and h; = |H;| and H
the period of C.

We may assume that H; N Hy = {0}, since otherwise one can reduce the
problem modulo the subgroup Hy N Hy. We denote H = Hy + Hy, |H| = hyiho.

We want to prove that for some i € {1,2}.

|C\ C;| > h; — |H]|.

Let us consider a non-empty intersection of C' with a H-coset, x + H. It
intersects C7 on ki Hi-cosets, so 0 < ky; < hg, and Cy on ky Hs-cosets, so
0 < ko <hy.

13



Since C; is H;-periodic and that each pair of a Hi-coset and a Hs-coset
intersect in one element, one has:

(C\C2)N (z+ H)| = ki(hy — ka),
[(C\ C1) N (z+ H)| = ka(ha — k1).
e If there is a coset such that 0 < k1 < he and 0 < ko < hy, then one has:
|C\ Co||C\ C1| > kika(h1 — k2)(ha — k1) > (h1 — 1)(he — 1).
And so one of the two |C'\ ;| has to be greater than h; — 1.

e Otherwise, consider that there is a coset such that k; = 0 and ks > 0 and
another one such that k3 = 0 and k1 > 0. One has:

‘C\CQ| Z h17

|C\ Ci| > ha.

So
|C\ Col|C'\ C1| = hiha,

what is even stronger the previously.

e Finally in the last case, whenever there is no H-coset with k; = 0 (or
symmetrically ko = 0). The set C intersect an H-coset in either the whole
coset, or k1 < hy and ko < hg, what implies that ko = 0, therefore C' is an
union of Hy-cosets. Thus Hy < H and hy — |H| < 0, which proves that

|C\ Ci| > ha — |H]|.

O

Theorem 6 (Kneser). Let A and B be two non-empty finite subsets of an
abelian group (G,+), one has:

|A+ B[ > |A+ H|+|B+ H| - |H],

where H = H(A + B) is the period of A+ B.

Proof. Let us now prove the theorem, let us consider for any b € B, the set of
pairs of (A, B') such that:

Ac A, beB
A'+B CcA+B
|A'|+|B'|=|A+ H|+|B+ H]|.
The pair (A+ H, B + H) does satisfy these conditions, so the set is not empty.
Among all these pairs, let us consider a pair (A4, By) with |Ap| maximal

(and so |Bp| minimal), a € Ay and define e = a —b. We apply the e-transform
to (Ap, By) to obtain (Ap(e), By(e)). The properties of the e-transform imply

14



that (Ap(e), By(e)) still satisfy the above conditions. Necessarily, since |4p| is
maximal, one has Ap(e) = Ap. This means that e + B, = a — b+ B, C Ay for
any a € Ay, therefore

Ay CAy+ By — b C Ay

We then have By — b C H(Ap) = H(Ap + By) and |Ap| < |Ap + Byl so:
|A+ H|+|B+ H| = |Ay| + |By| < [Ap + Bo| + [H(Ap + By)|-

Since this inequality is valid whatever the element b € B, and that the sets
Ay + By have union A 4+ B, one has from the previous lemmas:

| A+ H|+|B + H| < min{|Ap + By| + |H(Ap + By)l} < |[A+ B| + |H|.

O

Exercise 5. Proof the equivalence with this second formulation of Kneser’s
theorem:

Theorem 7 (Kneser). Let A and B be two non-emptly finite subsets of an
abelian group (G,+), if |A+ B| < |A| + |B| — 1 then:

|A+B|=|A+ H|+ |B+ H|— |H|,

where H = H(A + B) is the period of A+ B.
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From this result, that holds in the general context of any abelian group,
one can go back in the integers and extend the first theorem of this course (the
critical case of Theorem 1).

Theorem 8 ((3k — 4)-Freiman). Let A be a finite non-empty subset of Z, if
|A+ A] <3|4] -4

then A is contained in an arithmetical progression of length at most |A + A| —
|A|l + 1.

Proof. Up to dilatation and translation, one can consider that ged(A) = 1,
min(A) = 0. Denote m = max(A).

One considers A C Z/mZ, its cardinality is |A| = |A] — 1.

The sumset A + A is the image of A + A. Since 0, m and m + m are equal
modulo m, and 0+ a and m + a are equal modulo m for a € A \ {0, m}, one
has: [A+A| <A+ A|—((JA] —2)+2) = |A+ A] — |A| < 2|A] — 4 =2|A] - 2.

From Kneser’s theorem, one deduce that A + A is periodic, with an non-
trivial period H = dZ/mZ < Z/mZ, with d | m. and that:

|A+ Al =2[A+ H| - |H|.

o If A+ A =7Z/mZ, then m < |A + A| — |A|, what implies that m + 1 <
|A+ A|—|A]+1. And A is included in the arithmetical progression [0, m].

o If A+ A# Z/mZ, denote d, the divisor of m such that H = d (Z/mZ) is
the period of A+A. In this case, one have d | m and therefore, A intersects

#
H and at least another classe modulo H since otherwise all the elements
of A would be multiples of %, which is impossible because ged(A) = 1.

Consider that A intersect 1 + u classes modulo H, with u > 1. Denote
Ay =ANH, and Ay, ..., A, the other classes, with \Tu| minimal. These
classes are almost full, indeed 2| A+ H|—|H| < 2|A|—1, therefore [A+ H|—
|A| < (JH| — 1) and whatever is the class A;, one has [4; + H| — [4;| <
1(|H| — 1). Consider now the sets of integers A; of all the elements in A
whose images are in A;. The only cardinal difference is |4 = |A4o| + 1.
Since |A+ A| = [A+ H| — |H| = 2(u+ 1)|H| — |H| = (2u + 1)|H| counts
at least 2u + 1 classes, lets us denote A, ;) + Ag; for i € [1,u], u classes
in (A+A)\ A

Since the classes are disjoint, the above sets are disjoint and we have:
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A+ Al 2D Ao+ Ail + D [Aaq) + Ap)]

=0 =1

One isolate the first term of the first sum and the u-th term of both sums:

u—1
>|Ag + Ao| + (Z |40 + Ai|> + Ao + Ayl
=1
u—1
+ (Z |Ao¢(z) + Aﬁ(z)') + |Aa(u) + Aﬁ(u)'
=1
u—1
>(2Ag| — 1) + (Z 0+ A} U (m+Ai)|> 4 (Ao + | Au] - 1)
=1

u—1
+ (Z | Ao + Aﬁ(i)|> + ([Aal + 145w — 1)

i=1
Since the classes are full [A,;) + Ag@y| > |H| and since |A,| is minimal,
‘Aa(u)‘ > |Au| and |Aﬁ(u)‘ > |Au|
u—1
>(2140] ~ 1) + (22 |Az-> + (Aol + 144l = 1) + (u— DI+ (214, ~ 1)
i=1

>2|A| = 3+ ([Ao| + |[Aul + (u = 1)[H|)
And finally since | 4] = | Ao|+ (12 [4d] )+ Aul < [Ao|+(u=1)|H )+ Aul:

>3|A| - 3.

One reaches a contradiction and the end of the proof.

This result is optimal in the sense that the set
Ay =1[0,a— 1)U [z, 2+ b—1]
with © > a — 2 + max{a, b}, it has cardinality a + b and sumset:
Ay +A, =10,2a-2]U[z,z+a+b—2]U[2z,2x + 2b — 2]

of cardinality (2a — 1)+ (a+b—1)+ (20 — 1) = 3(a + b) — 3, and it cannot be
included in any small arithmetical progression since x can be as large as desired.
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